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Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh Candidates) 

(Evening Session) 

Time allowed : 3 hours ]              [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : A 
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 ( 2 )         2029/ (Set : A) 

2029/ (Set : A) 

Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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 ( 3 )         2029/ (Set : A) 

2029/ (Set : A)  P. T. O. 

 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) FCC ;wfuV lsy esa fdrus VsVªkgsMªy okW;M gSa \ 1 

  (A) 8 (B) 4 

  (C) 6 (D) 12 

  Number of tetrahedral voids in the FCC unit cell is : 

  (A) 8 (B) 4 

  (C) 6 (D) 12 

 (ii) 2.5 eksyy foy;u esa lkWY;wV dk eksy ÝsD'ku gS % 1 

  (A) 0.43 (B) 0.043 

  (C) 4.3 (D) 43 
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 ( 4 )         2029/ (Set : A) 

2029/ (Set : A) 

 Mole fraction of a solute in 2.5 molal aqueous solution is : 

  (A) 0.43 (B) 0.043 

  (C) 4.3 (D) 43 

 (iii) DoFkukad ds mUu;u ds fy, lgh O;atd (expression)  gS %   1 

  (A) mKT bb .=∆  (B) mKT ff .=∆  

  (C) π = CRT (D) buesa ls dksbZ ugha 

  Correct expression for elevation in boiling point is : 

  (A) mKT bb .=∆  (B) mKT ff .=∆  

  (C) π = CRT (D) None of these 

 (iv) bysDVªksykbV foy;u dh pkydrk fuHkZj djrh gS % 1 

  (A) bysDVªksykbV dh izÑfr 

  (B) AC lkslZ dh 'kfDr 

  (C) nks bysDVªksM ds chp dh nwjh 

  (D) mijksDr esa ls dksbZ ugha 

  Conductance of an electrolytic solution depends : 

  (A) Nature of electrolyte 

  (B) Power of AC source 

  (C) Distance between two electrodes 

  (D) None of the above 
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 ( 5 )         2029/ (Set : A) 

2029/ (Set : A)  P. T. O. 

 (v) ,d mRizsjd dk dk;Z ifjorZu ykuk gS % 1 

  (A) fØ;k dh fxCl ÅtkZ  

  (B) fØ;k dh ,UFkSYih 

  (C) fØ;k dh lfØ;u ÅtkZ  

  (D) mijksDr esa ls dksbZ ugha 

  Role of a catalyst is to change : 

  (A) Gibbs energy of reaction 

  (B) Enthalpy of reaction 

  (C) Activation energy of reaction 

  (D) None of the above 

 (vi) thjks vkMZj vfHkfØ;k dh jsV dkWUlVsUV dh bdkbZ gS % 1 

  (A) 11 −− sLmol  (B) 11 −− smolL  

  (C) 122 −− smolL  (D) 1−s  

  Unit of rate constant for a Zero order reaction is : 

  (A) 11 −− sLmol  (B) 11 −− smolL  

  (C) 122 −− smolL  (D) 1−s  

 (vii) ckWDlkbM v;Ld esa lkekU;r% v'kq)rk gksrh gS % 1 

  (A) CuO (B) ZnO 
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 ( 6 )         2029/ (Set : A) 

2029/ (Set : A) 

  (C) Fe2O3 (D) buesa ls dksbZ ugha 

  Common impurities present in Bauxite ore : 

  (A) CuO (B) ZnO 

  (C) Fe2O3 (D) None of these 

 (viii) fuEu esa dkSu&lk rRo vi:irk ughaughaughaugha n'kkZrk gS \ 1 

  (A) ukbVªkstu (B) fcLeFk 

  (C) ,UVheuh (D) vklsZfud 

  Which of the following element does not show allotropy ? 

  (A) Nitrogen (B) Bismuth 

  (C) Antimony (D) Arsenic 

 (ix) dkSu&lk dkWEIysDl T;kferh; vkblksesfjTe n'kkZrk gS \ 1 

  (A) [ ]
+2

4MnBr  

  (B) [ ]
+

ClNHPt
33 )(  

  (C) ( )[ ]
23522 )( HCPPtCl  

  (D) [ ]
+2

52 )( NOOHFe  

  Which complex exhibit geometrical isomerism ? 

  (A) [ ]
+2

4MnBr  

  (B) [ ]
+

ClNHPt
33 )(  

  (C) ( )[ ]
23522 )( HCPPtCl  

  (D) [ ]
+2

52 )( NOOHFe  
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 ( 7 )         2029/ (Set : A) 

2029/ (Set : A)  P. T. O. 

 (x) ,Ydksgfyd KOH ds lkFk ,fYdy gsykbM~l ds fMgkbMªksgSyksftus'ku dh lqxerk gS % 1 

  (A) 3° < 2° <1° (B) 3° > 2° > 1° 

  (C) 3° < 2° > 1° (D) buesa ls dksbZ ugha 

  The ease of dehydrohalogenation of alkyl halides with alcoholic 

KOH is : 

  (A) 3° < 2° <1° (B) 3° > 2° > 1° 

  (C) 3° < 2° > 1° (D) None of these 

 (xi) fuEu esa dkSu KOH(aq) ds lkFk xeZ djus ij ,slhVsfYMgkbM cukrk gS \  1 

  (A) 23 ClCHCH −−   

  (B) ClCOCH −−3  

  (C) ClCHCH −− 23   

  (D) ClCHClCH −−− 22  

  Which on heating with aqueous KOH, produces acetaldehyde ? 

  (A) 23 ClCHCH −−   

  (B) ClCOCH −−3  

  (C) ClCHCH −− 23   

  (D) ClCHClCH −−− 22  

 (xii) fuEu esa 3° vehu dkSu&lh gS \  1 

  (A) Vªkb,fFky,sehu (B) t-C;wfVy,sehu 

  (C) N-esfFky,sehu (D) ,fFky,sehu 
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  Which of the following is a 3° amine ? 

  (A) Triethylamine (B) t- Butylamine 

  (C) N-methylamine (D) Ethylamine 

  2. fuEu inksa dh ifjHkk"kk nhft, % 2 

 (i) fgekad 

 (ii) eksyy fMizs'ku dkWUlVsUV 

 Define the terms : 

 (i) Freezing point  

 (ii) Molal depression constant 

  3. fuEu inksa dh ifjHkk"kk nhft, % 2 

 (a) v)Z vk;q 

 (b) vfHkfØ;k dh dksfV 

 Define the following terms : 

 (a) Half life time  

 (b) Order of a reaction 

  4. Qsu Iyou fØ;k esa fMizslUV dk D;k jksy gS \ 2 

 What is the role of a depressant in froth floatation process ? 

  5. ,d vkWDVsgsMªy fØLVy QhYM esa d-vkfcZVy dh fLIyfVax dk fp= cukb,A 2 

 Draw the diagram to show splitting of d-orbital in an octahedral crystal 

field. 
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 ( 9 )         2029/ (Set : A) 

2029/ (Set : A)  P. T. O. 

  6. fuEu ;kSfxdksa ds IUPAC uke fyf[k, % 2 

 (i)  CH3-CHOH-CH2-CHOH-CH3  

 (ii) C6H5-O-C6H5 

 Write the IUPAC names of following compounds : 

 (i)  CH3-CHOH-CH2-CHOH-CH3  

 (ii) C6H5-O-C6H5 

  7. ,sfyQsfVd vehu ,sjksesfVd vehu ls T;knk {kkjh; gS] O;k[;k dhft,A 2 

 Aliphatic amines stronger base than aromatic amines, explain. 

  8. dks&ikWfyesjkbts'ku dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain the term co-polymerization with example. 

  9. QhukWy ds vEyh; izÑfr dh O;k[;k dhft,A 2 

 Discuss the acidic nature of phenols. 

10. izfrj{kd D;k gS \ nksnksnksnks mnkgj.k nhft,A 2 

 What are antibiotics ? Give two examples. 

11. fuEu MsVk ls vkoksxzknzks la[;k (N0 ) dh x.kuk dhft, % 3 

 (i)  NaCl dk ?kuRo = 2.165 gm cm–3 

 (ii) Na
+
 o Cl – ds chp dh nwjh = 281 pm 
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 ( 10 )         2029/ (Set : A) 

2029/ (Set : A) 

 Calculate the value of Avogadro number (N0) from following data : 

 (i)  Density of NaCl = 2.165 gm cm–3 

 (ii) Distance between Na
+
 & Cl 

–
 in NaCl = 281pm 

12. ukWeZy gkbMªkstu bysDVªksM dh jpuk ,oa dk;Z dh O;k[;k dhft,A  

3 

 Describe the construction and working of Normal Hydrogen Electrode. 

13. fV.My izHkko dh laf{kIr O;k[;k dhft,A bldk egÙo D;k gS \ 

3 

 Briefly explain Tyndal effect. Give its importance. 

14. BrCHCH −− 23  dks fuEu esa dSls cnysaxs \ 3 

 (i) 33 CHCH −  

 (ii) 5252 HCOHC −−  

 (iii) CNCHCH −− 23  

 How will you convert BrCHCH −− 23  into following ? 

 (i) 33 CHCH −  

 (ii) 5252 HCOHC −−  

 (iii) CNCHCH −− 23  
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 ( 11 )         2029/ (Set : A) 

2029/ (Set : A)  P. T. O. 

15. vko';d rFkk vuko';d vehuks vEy D;k gSa \ izR;sd dk ,d,d,d,d mnkgj.k nhft,A 3 

 What are essential and non-essential amino acids ? Give one example 

of each. 

16. (a) PF5 dh lajpuk dh O;k[;k dhft,A 3 

  Discuss the structure of PF5. 

 (b) ukbVªkstu ds vlkekU; O;ogkj ds eq[; dkj.k D;k gSa \ 2 

  What are main reasons for anomalous properties of Nitrogen ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) vksLVokYM izØe ls vki HNO3 dSls rS;kj djsaxs \ 3 

  How will you prepare HNO3 by Ostwald process ?   

 (b) veksfu;k ds dksbZ nksnksnksnks  VsLV dk uke crkb,A 2 

  Name any two tests for ammonia. 

17. (a) laØe.k rRo D;k gSa \ Cr(24) ,oa Cu(29) dk bysDVªkWfud foU;kl fyf[k,A 3 

  What are transition elements ? Write the electronic configuration of 

Cr(24) & Cu(29). 

 (b) ysUFksukbM ladqpu ij uksV fyf[k,A 2 

  Write a note on lanthanide contraction. 
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vFkokvFkokvFkokvFkok    

OR 

 (a) laØe.k rRoksa ds fuEu xq.kksa dh laf{kIr O;k[;k dhft, % 3 

  (i) vkW;fud f=T;k 

  (ii) dkWEIysfDlax VsUMsUlh 

  (iii) dSVkfyfVd izkiVhZt+ 
  Discuss briefly the following properties of transition metals : 

  (i) Ionic radii 

  (ii) Complexing tendency 

  (iii) Catalytic properties 

 (b) laØe.k rRo fofHkUu vkWDlhdj.k voLFkk n'kkZrs] gSa D;ksa \     2 

  Why transition elements show variable oxidation state ? 

18. (a) fuEu ls ,fYMgkbM dSls rS;kj djsaxs \ 3 

  (i) ,sYdksgkWy 

  (ii) (RCOO)2-Ca 

  (iii) ,sYdkbu 

  How will you prepare Aldehyde from : 

  (i) Alcohol  

  (ii) (RCOO)2-Ca 

  (iii) Alkyne 
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 (b) fuEu ds IUPAC uke fyf[k, %  2 

  Write the IUPAC names of : 

  (i) COOHBrCHCH −− 23  

  (ii) COOHCHCHCOOH −−− 22  

vFkokvFkokvFkokvFkok    

OR 

 (a) D;ksa ,fYMgkbM] dhVksu dh vis{kk vf/kd 'kh?kz ukfHkd Lusgh ;ksxkRed vfHkfØ;k ls 

xqtjrk gS] O;k[;k dhft,A 3 

 (b) D;ksa dkcksZfDlfyd vEy] dkcksZfuy lewg ds fof'k"V vfHkfØ;kvkas dks ugha nsrk gS \ 2 

 (a) Why Aldehyde undergo nucleophilic addition reactions more readily 

than  ketones ? Explain. 

 (b) Why carboxylic acids do not give characteristic reactions of 

Carbonyl group ? 

SSSS  

Download from www.MsEducationTv.com
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CLASS : 12th (Sr. Secondary)          Code No. 2029 
Series : SS-M/2017 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh Candidates) 

(Evening Session) 

Time allowed : 3 hours ]             [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : B 
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 ( 2 )         2029/ (Set : B) 

2029/ (Set : B) 

Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

lklklklkekU; funsZ'k %ekU; funsZ'k %ekU; funsZ'k %ekU; funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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2029/ (Set : B)          P. T. O. 

 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) fuEu esa dkSu Bksl voLFkk esa dksosysUV fØLVy gksrk gS \ 1 

  (A) QkLQksjl (B) vk;ksMhu 

  (C) flfydkWu (D) lYQj 

  Which of the following exists as covalent crystal in solid state ? 

  (A) Phosphorus (B) Iodine 

  (C) Silicon (D) Sulphur 

 (ii) BCC O;oLFkk esa [kkyh txg fdrus izfr'kr gS \ 1 

  (A) 74% (B) 68% 

  (C) 32% (D) 26% 
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  Percentage of empty space in a BCC arrangement is : 

  (A) 74% (B) 68% 

  (C) 32% (D) 26% 

 (iii) ,d foyk;d esa foys; dh vf/kdre ek=k dh ?kqyu'khyrk fdl ij fuHkZj ughaughaughaugha djrh gS \

  

  (A) nkc  

  (B) rkieku 

  (C) foys; dh izÑfr  

  (D) foyk;d dh izÑfr 

  Maximum amount of a solid solute that can be dissolved in a given 

amount of a liquid solvent does not depend upon : 

  (A) Pressure  

  (B) Temperature 

  (C) Nature of solute  

  (D) Nature of solvent 

 (iv) vf/kd Å¡pkbZ ij jgus okys yksxksa ds jDr esa O2 dh fuEu lkUnzrk gksus dk dkj.k gS 1 

  (A) fuEu rki 

  (B) fuEu ok;qe.Myh; nkc 
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  (C) mPp ok;qe.Myh; nkc 

  (D) mijksDr esa ls dksbZ ugha 

  Low concentration of O2 in the blood of people living at high 

altitude is due to : 

  (A) Low Temperature 

  (B) Low Atmospheric Pressure 

  (C) High Atmospheric Pressure 

  (D) None of the above 

 (v) dkSu&lh /kkrq mlds lkWYV ds oS|qr vi?kVu ls izkIr ughaughaughaugha dh tk ldrh gS \ 1 

  (A) Ca (B) Ag 

  (C) Cr (D) Cu 

  The metal that cannot be obtained by electrolysis of an aqueous 

solution of its salt is : 

  (A) Ca (B) Ag 

  (C) Cr (D) Cu 

 (vi) la{kkj.k ,d feJ.k gS %   1 

  (A) 32OFe   

  (B) 32OFe  rFkk 3)(OHFe  

  (C) FeO rFkk 3)(OHFe    

  (D) 43OFe  rFkk 3)(OHFe  

Download from www.MsEducationTv.com



 ( 6 )         2029/ (Set : B) 
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  Rust is a mixture of : 

  (A) 32OFe  (B) 32OFe  & 3)(OHFe  

  (C) FeO & 3)(OHFe   (D) 43OFe  & 3)(OHFe  

 (vii) ,d thjks dksfV vfHkfØ;k ds 100% iw.kZ gksus esa le; yxrk gS %   1 

  (A) kat /%100 =  (B) kat .%100 =  

  (C) kat 2/%100 =  (D) buesa ls dksbZ ugha 

  Time required for 100% completion of a Zero order reaction is : 

  (A) kat /%100 =  (B) kat .%100 =  

  (C) kat 2/%100 =  (D) None of these 

 (viii) HkkSfrd vf/k'kks"k.k ds izfrdwy fLFkfr fuEu esa dkSu ugha ugha ugha ugha   gS \   1 

  (A) mPp nkc (B) –∆H 

  (C) mPp rki (D) buesa ls dksbZ ugha 

  Which of the following is not a favourable condition for physical 

adsorption ? 

  (A) High pressure  

  (B) –∆H 

  (C) High temperature  

  (D) None of the above 
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 (ix) P4 esa d{kd fuekZ.k ds p-p cU/k esa π-dSjsDVj dh izfr'krrk gS %   1 

  (A) 25 (B) 33 

  (C) 50 (D) 75 

  The percentage of π-character in the orbital forming p-p bonds in 

P4 is : 

  (A) 25 (B) 33 
  (C) 50 (D) 75 

 (x) ,d 1° ,Ydkby gsykbM izkFkfedrk ls n'kkZrk gS % 1 

  (A) 2SN  (B) 1SN  

  (C) foyksiu (D) buesa ls dksbZ ugha 

  A 1° alkyl halide would prefer to undergo : 

  (A) 2SN  (B) 1SN  

  (C) Elimination (D) None of these 

 (xi) fuEu esa dkSu ty ds lkFk fØ;k djrk gS \     1 

  (A) 3CHCl  (B) CHOCCl −3  

  (C) 4CCl  (D) ClCHClCH 22  

  Which of the following reacts with water ? 

  (A) 3CHCl  (B) CHOCCl −3  

  (C) 4CCl  (D) ClCHClCH 22  
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 (xii) ,flM ,ugkbMªkbM 1° ,ehu ds lkFk fØ;k djds cukrk  gS %   1 

  (A) ,ekbM (B) bekbM 

  (C) bekbu (D) buesa ls dksbZ ugha 

  Acid anhydrides on reaction with 1° amine gives : 

  (A) Amide (B) Imide 

  (C) Imine (D) None of these 

  2. fØLVyh; Bksl D;k gksrs gSa \ nksnksnksnks  mnkgj.k nhft,A 2 

 What are crystalline solids ? Give two examples. 

  3. Bkslksa dh nzoksa esa ?kqyu'khyrk ij rkieku ds izHkko dh laf{kIr O;k[;k dhft,A 2 

 Briefly explain the effects of temperature on the solubility of solids in 

liquids. 

  4. fuEu lsy fØ;k ds fy, ekud EMF dh x.kuk dhft,] 

AgZnAgZn 22 +→+
+++  fn;k x;k gS % 

   ;76.0
/

VE
ZnZn

=++

o   VE
AgAg

80.0
/

−=+

o  2 

 Calculate the standard EMF of a cell      involving cell reaction 

AgZnAgZn 22 +→+
+++  Given :  

;76.0
/

VE
ZnZn

=++

o   VE
AgAg

80.0
/

−=+

o . 
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  5. vf/k'kks"k.k dh ifjHkk"kk nhft,A ,d,d,d,d  mnkgj.k nhft,A 2 

 Define adsorption. Give one example. 

  6. ,Ydksgy dks QhukWy ls foHksn djus ds nksnksnksnks ijh{k.k ds uke crkb,A 2 

 Name any two tests to distinguish Alcohol from Phenol. 

  7. p-ukbVªksQhukWy] QhukWy ds eqdkcys vf/kd vEyh; gS] D;ksa \ 2 

 p-Nitrophenol is more acidic than phenol explain why ? 

  8. 1° ,ehu ds fy, dkckZby ,ehu VsLV D;k gS \ 2 

 What is carbylamines test for 1° amine ? 

  9. fuEu ikWyhej ds ,dd ?kVd fyf[k, % 2 

 (i)  fXyIVy 

 (ii) ukbykWu-6, 6 

 Write the monomers used for preparing following polymers : 

 (i)  Glyptal 

 (ii) Nylon-6, 6 

10. foVkfeu D;k gS \ fdUgha nksnksnksnks  foVkfeu ds uke fyf[k,A 2 

 What are vitamins ? Name any two vitamins. 
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11. fuEu inksa dks ifjHkkf"kr dhft, % 3 

 (i)  lfØ;.k ÅtkZ 

 (ii) vkf.odrk 

 (iii) osx fLFkjkad 

 Define the terms : 

 (i)  Activation Energy 

 (ii) Molecularity 

 (iii) Rate constant 

12. [kfut rFkk v;Ldksa esa vUrj crkb,A 3 

 Differentiate between minerals and ores. 

13. mnkgj.k lfgr dhysV dh ifjHkk"kk nhft,A dhysV ds egÙo fyf[k,A 3 

 Define chelate with example. Write the importance of chelate. 

14. 
2SN  vfHkfØ;k ds esdfuTe dh O;k[;k dhft,A  3 

 Explain the mechanism of 2SN  reaction. 

15. fuEu inksa dh ifjHkk"kk nhft, % 3 

 (i) ck;ksekWfyD;wYl 

 (ii) dkcksZgkbMªsV 
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 (iii) fjM~;qflax 'kqxj 

 Define the terms : 

 (i) Biomolecules 

 (ii) Carbohydrates 

 (iii) Reducing Sugars 

16. (a) QkWLQksjl ds rhrhrhrhuuuu vkWDlh vEyksa ds uke fyf[k, rFkk mudh lajpuk cukb,A 3 

  Name three oxy-acids of Phosphorus and draw their structures. 

 (b) vkWDlhtu ds vlkekU; O;ogkj dh O;k[;k dhft,A 2 

  Discuss the anomalous behavior of oxygen. 

vFkokvFkokvFkokvFkok    

OR 

 (a) 722 OCrK  dh fuEu ds lkFk jklk;fud vfHkfØ;k fyf[k, %   3 

  (i) 42SOH  (ii) KOH  

  (iii) KI 

  Write the chemical reaction of 722 OCrK  with following : 

  (i) 42SOH  (ii) KOH  

  (iii) KI 
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 (b) Øksekby DyksjkbM VsLV D;k gS \  2 

  What is chromyl chloride test ? 

17. (a) 4KMnO ds lkFk fuEu dh jklk;fud vfHkfØ;k fyf[k, % 3 

  (i) KI (ii) H2S 

  (iii) 4FeSO  

  Write the chemical reaction of 4KMnO  with : 

  (i) KI (ii) H2S 

  (iii) 4FeSO  

 (b) −

4MnO  dh lajpuk cukb,A  2 

  Draw the structure of −

4MnO . 

vFkokvFkokvFkokvFkok    

OR 

 (a) laØe.k rRoksa ds pqEcdh; O;ogkj dh O;k[;k dhft,A 3 

  Explain the magnetic behavior of transition metals. 

 (b) )30(),28( ZnNi  dk bysDVªkWfud foU;kl fyf[k,A 2 

  Write the electronics configuration of )30(),28( ZnNi . 

18. (a) dhVksu dks rS;kj djus dh nksnksnksnks fof/k;k¡] jklk;fud vfHkfØ;k lfgr fyf[k,A 3 

  Give two methods of preparation of Ketones and write the 

chemical reactions. 
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 (b) fuEu ds IUPAC uke fyf[k, %  2 

  (i) CHOCHCHCH −− )( 33  

  (ii) CHOCHHC −− 256  

  Write the IUPAC names of the following : 

  (i) CHOCHCHCH −− )( 33  

  (ii) CHOCHHC −− 256  

vFkokvFkokvFkokvFkok    

OR 

 (a) dSfutkjks fØ;k D;k gS \ bldk esdfuTe fyf[k,A 3 

  What is Cannizaro's reaction ? Write its mechanism ? 

 (b) dkcksZfuy xzqi dh lajpuk dh O;k[;k dhft,A 2 

  Discuss the structure of Carbonyl group. 

SSSS  
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jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

(Only for Fresh Candidates) 

(Evening Session) 

Time allowed : 3 hours ]             [ Maximum Marks : 60 
• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  

Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 
• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page / pages in your answer-book. 
• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

SET : C 
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Candidates must write their Roll Number on the question paper. 
• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

lklklklkekU; funsZ'k %ekU; funsZ'k %ekU; funsZ'k %ekU; funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 
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 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) DoFkukad mUu;u fLFkjkad dh bdkbZ gS % 1 

  (A) 1−molkgK   

  (B) 1−Kkgmol  

  (C) 1−kgmolK   

  (D) mijksDr esa ls dksbZ ugha 

  The unit of ebullioscopic constant is : 

  s(A) 1−molkgK   

  (B) 1−Kkgmol  

  (C) 1−kgmolK   

  (D) None of the above 

 (ii) 32OAl  ls 1 eksy Al izkIr djus esa fdruh ek=k pktZ pkfg, \   1 
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  (A) 1 F (B) 6 F 

  (C) 3 F (D) 2 F 

  The quantity of charge required to obtain    1 mol of  Al from 

32OAl  : 

  (A) 1 F (B) 6 F 

  (C) 3 F (D) 2 F 

 (iii) fuEu esa dkSu&lk dFku lR;lR;lR;lR; gS \  1 

  (A) ruq NaOH  ds oS|qrvi?kVu ls dSFkksM ij 2H  rFkk ,suksM ij 2O A 

  (B) 42SOH  ds oS|qrvi?kVu ls dSFkksM ij 2H  rFkk ,suksM ij 2O A 

  (C) tyh; KF ds oS|qrvi?kVu ls dSFkksM ij 2F A 

  (D) mijksDr esa ls dksbZ ugha 

  Which of following statement is correct ? 

  (A) Electrolysis of dil NaOH gives H2 at cathode & O2 at anode. 

  (B) Electrolysis of 42SOH  gives H2 at cathode & O2 at anode. 

  (C) Electrolysis of aq KF solution gives F2 at cathode. 

  (D) None of the above 

 (iv) vkjsfu;l lehdj.k n'kkZbZ tkrh gS % 1 

Download from www.MsEducationTv.com



 ( 5 )         2029/ (Set : C) 

2029/ (Set : C)          P. T. O. 

  (A) RTEaAeK /
=  

  (B) RTEaAeK /−
=  

  (C) 693.0½ =t /K 

  (D) mijksDr esa ls dksbZ ugha 

  Arrhenius equation is represented by : 

  (A) RTEaAeK /
=  

  (B) RTEaAeK /−
=  

  (C) 693.0½ =t /K 

  (D) None of the above 

 (v) dksykbMksa dk dkSu&lk xq.k pktZ ij fuHkZj ughaughaughaugha djrk \ 1 

  (A) dks,sX;wys'ku (B) bysDVªksvkleksfll 

  (C) fV.My izHkko (D) buesa ls dksbZ ugha 

  Which property of colloids is not dependent on the charge on 

colloidal particles ? 

  (A) Coagulation (B) Electro-osmosis 

  (C) Tyndal effect (D) None of these 

 (vi) ukbVªkstu dh vf/kdre la;kstdrk gS % 1 

  (A) 3 (B) 5 
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  (C) 4  (D) 6 

  Maximum covalency of Nitrogen is : 

  (A) 3 (B) 5 

  (C) 4  (D) 6 

 (vii) dkWij lYQsV vf/kd ek=k esa KCN esa ?kqydj cukrk gS % 

1 

  (A) −3
4 ])([ CNCu  (B) −2

4 ])([ CNCu  

  (C) CuCN (D) ])([ 2CNCu  

  Copper sulphate dissolves in excess of KCN to give : 

  (A) −3
4 ])([ CNCu  (B) −2

4 ])([ CNCu  

  (C) CuCN (D) ])([ 2CNCu  

 (viii) ,Ydksgy dh fdlds lkFk fØ;k djds ,Ydkby gsykbM curs gSa \   1 

  (A) HCl  + 2ZnCl   

  (B) KISOH +42  

  (C) 42SOHNaCl +   

  (D) mijksDr esa ls dksbZ ugha 

  Alkyl halides are prepared from alcohol by treating with : 

  (A) HCl + 2ZnCl   
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  (B) KISOH +42  

  (C) 42SOHNaCl +  

  (D) None of the above 

 (ix) dkcZfud ;kSfxd tks 2SN  fØ;k esa iw.kZ LVhfj;ksdsfedy bUolZu n'kkZrk gS %  

 1 

  (A) ClCH3   

  (B) ( ) ClCHCH −23  

  (C) ( ) ClCCH −33  

  (D) mijksDr esa ls dksbZ ugha 

  Organic compound which shows complete stereochemical 

inversion during 2SN  reaction : 

  (A) ClCH3   

  (B) ( ) ClCHCH −23  

  (C) ( ) ClCCH −33  

  (D) None of the above 

 (x) bZFkj dk vkf.od lw= gS %   1 

  (A) OHC nn 12 +  (B) OHC nn 2  

  (C) OHC nn 22 +  (D) mijksDr esa ls dksbZ ugha 

  Molecular formula of Ethers is : 

  (A) OHC nn 12 +  (B) OHC nn 2  
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  (C) OHC nn 22 +  (D) None of these 

 (xi) gkWQesu czksesekbM vi?kVu vfHkfØ;k esa gksrk gS % 1 

  (A) 2NHAr −  (B) 2CONHAr −  

  (C) 2NOAr −  (D) buesa ls dksbZ ugha 

  Hoffman Bromamide degradation reaction involve : 

  (A) 2NHAr −  (B) 2CONHAr −  

  (C) 2NOAr −  (D) None of these 

 (xii) vk;MksQkWeZ VsLV ughaughaughaugha nsrk gS %  1 

  (A) 2-isUVsuksu (B) 3-isUVsuksu 

  (C) ,FksukWy (D) ,FksuSy 

  Iodoform test is not given by : 

  (A) 2-Pentanone (B) 3-Pentanone 

  (C) Ethanol (D) Ethanal 

  2. izfrpqEcdRo D;k gS \ ,d ,d ,d ,d mnkgj.k nhft,A 2 

 What is paramagnetism ? Give one example. 

  3. ,d FCC fØLVy esa d.kksa dh la[;k dh x.kuk dhft,A 2 
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 Calculate number of particles per unit cell in a FCC crystal. 

  4. esVSfyd rFkk bysDVªksfyfVd pkyd esa nksnksnksnks  vUrj nhft,A 2 

 Give two differences between metallic and electrolytic conductors. 

  5. /kukRed rFkk _.kkRed mRizsjdrk dh ifjHkk"kk nhft,A 2 

 Define positive and negative catalysis . 

  6. /kzqo.k leko;ork D;k gS \ ,d,d,d,d mnkgj.k lfgr O;k[;k dhft,A 2 

 What is optical isomerism ? Explain with one example. 

  7. oqV~tZ vfHkfØ;k D;k gS \ 2 

 What is Wurtz reaction ? 

  8. VkWywbZu dk ukbVªs'ku csUthu dh vis{kk vklkuh ls gksrk gSA O;k[;k dhft,A 2 

 Toluene is more easily nitrated than benzene. Explain. 

  9. ck;ksfMxzsMscy cgqyd D;k gS \ ,d,d,d,d mnkgj.k nhft,A 2 

 What is biodegradable polymer ? Give one example. 
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10. iwfrjks/kh rFkk folaØkeh dks ifjHkkf"kr dhft,A 2 

 Define antiseptics and disinfectants. 

11. DoFkukad ds mUu;u dh la{ksi esa O;k[;k dhft,A 3 

 Briefly discuss elevation in boiling point. 

12. izFke dksfV vfHkfØ;k ds fy, lekdfyr lehdj.k dh O;qRifÙk dhft,A 3 

 Derive the integrated rate equation for first order reaction. 

13. v;Ldksa dk izlk/ku D;k gS \ Qsu Iyou fof/k dh O;k[;k dhft,A 3 

 What is benefaction of the Ores ? Explain froth floatation process. 

14. fjej&fVeku vfHkfØ;k D;k gS \ 3 

 What is Reimer-Tiemann reaction ? 

15. izksVhu ds fMuspqjs'ku ij laf{kIr fVIi.kh fyf[k,A 3 

 Write short note on denaturation of proteins. 

16. ,fDVukW;M rFkk ySUFksukW;M Js.kh ds rRoksa dh] fuEu ds lanHkZ esa jlk;u dh rqyuk dhft, % 5 

 Compare the chemistry of actinoids with that of lanthanoids with 

special reference to : 
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 (i) ijek.oh; vkdkj 

  Atomic sizes 

 (ii) jklk;fud vfHkfØ;k'khyrk 

  Chemical reactivity 

vFkokvFkokvFkokvFkok    

OR 

 fuEu ds fy, vki x.kuk dSls djsaxs \ 

 How would you account for the following ? 

 (i) laØe.k /kkrq,¡ vPNh mRizsjd gSaA  3 

  Transition metals acts as good catalysts. 

 (ii) laØe.k /kkrq,¡ jaxhu ;kSfxd cukrh gSaA 2 

  Transition metal forms coloured compounds. 

17. (a) 3PH  dk DoFkukad 3NH  dh vis{kk de gksrk gSA D;ksa \ 

3 

  PH3 has lower boiling point than NH3, explain why ? 
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 (b) 3PCl  ueh esa /kwe D;ksa nsrk gS \  2 

  Why does 3PCl  fumes in moisture ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) OH2  ,d nzo rFkk SH2  xSl D;ksa gS \ 3 

  Why is OH2  a liquid and SH2  a gas ? 

 (b) 2Cl  ds fojatd fØ;k dh O;k[;k dhft,A 2 

  Explain the bleaching action of 2Cl . 

18. (a) fuEu dh dkcksZfuy xzqi ds lkFk jklk;fud vfHkfØ;k fyf[k, % 3 

  (i) OH2  

  (ii) HCN 

  (iii) −+
3HSONa  

  Write the chemical reaction of carbonyl group with : 

  (i) OH2  

  (ii) HCN 

  (iii) −+
3HSONa  
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 (b) gsy oksykMZ ftysUldh vfHkfØ;k D;k gS \ 2 

  What is Hell Vohlard Zelinsky reaction ? 

vFkokvFkokvFkokvFkok    

OR 

 (a) fÝMy ØkW¶V ,Ydkbys'ku vfHkfØ;k dh O;k[;k dhft,A 3 

  Discuss the Friedel Crafts alkylation reaction. 

 (b) dkcksZfDlfyd vEy ds nksnksnksnks egÙoiw.kZ mi;ksx nhft,A 2 

  Give two important uses of carboxylic acids. 

SSSS  
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• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr iz'u 18 gSaA  
Please make sure that the printed question paper are contains 18 

questions. 
• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsV lsV lsV lsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B 
ij fy[ksaA 
The Code No. and Set on the right side of the question paper should be 

written by the candidate on the front page of the answer-book. 
• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
Don’t leave blank page / pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk 
mÙkj u dkVsaA 
Except answer-book, no extra sheet will be given. Write to the point and do 
not strike the written answer. 
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• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 
Candidates must write their Roll Number on the question paper. 

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds ijh{kk ds ijh{kk ds ijh{kk ds 
mijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAmijkUr bl lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the 
correct and complete question paper, no claim in this regard, will be 
entertained after examination. 

llllkekU; funsZ'k %kekU; funsZ'k %kekU; funsZ'k %kekU; funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa ckjgckjgckjgckjg (i - xii) cgqfodYih; iz'u gSaA izR;sd 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  10 rd vfry?kq mÙkjh; ç'u gSaA çR;sd 2 vadksa dk gSA izR;sd iz'u 

dk mÙkj yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 11 ls  15 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u 
dk mÙkj yxHkx 40 'kCnksa esa nhft,A 

 (vi) ç'u la[;k 16 ls  18 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd 
iz'u dk mÙkj yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh nh?kZ mÙkjh; 
iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u 
djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 
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 (iii) Question Number 1 consists of twelve (i-xii) multiple choice questions 

carrying 1 mark each. Candidates have to write the correct answer 

in their answer-book. 

 (iv) Question Numbers 2 to 10 are very short answer type questions of 2 

marks each. Answer these in about 30 words each. 

 (v) Question Numbers 11 to 15 are short answer type questions of 3 

marks each. Answer these in about 40 words each. 

 (vi) Question Numbers 16 to 18 are long answer type questions of 5 

marks each. Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all 

long answer type questions of 5 marks each. You have to attempt 

only one of the given choice in such questions. 

  1. (i) fdldh mifLFkfr ds dkj.k xzsQkbV fo|qr~ dk vPNk pkyd gS \ 1 

  (A) bysDVªkWu ds yksu is;j 

  (B) Ýh osysUl bysDVªkWu 

  (C) dSVk;u 

  (D) ,uk;u 

  Graphite is a good conductor of electricity due to the presence of : 

  (A) Lone pair of electron 

  (B) Free valence electron 

  (C) Cations 

  (D) Anions 
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 (ii) 900 xzke, ty dh eksyjrk gS %  1 

  (A) 50 M (B) 55.5 M 

  (C) 5 M (D) buesa ls dksbZ ugha 

  Molarity of 900 gm of water is : 

  (A) 50 M (B) 55.5 M 

  (C) 5 M (D) None of these 

 (iii) usu~ZLV lehdj.k n'kkZbZ tkrh gS %  1 

  (A) FnEG 00
−=∆  

  (B) KnRTG ln−=∆  

  (C) 
n

EE cellcell
0591.00

−=  log
][

][
+nM

M  

  (D) mijksDr esa ls dksbZ ughas 

  Nernst equation is shown by expression : 

  (A) FnEG 00
−=∆  

  (B) KnRTG ln−=∆  

  (C) 
n

EE cellcell
0591.00

−=  log
][

][
+nM

M  

  (D) None of the above 

 (iv) CuCuMgMg /||/ 22 ++  lsy vfHkfØ;k ds fy, % 1 
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  (A) dSFkksM ds :i esa Mg  

  (B) dSFkksM ds :i esa Cu 

  (C) Cu  ,d vkWDlhdj.k dkjd gS 

  (D) mijksDr esa ls dksbZ ugha 

  For the given cell reaction : 

CuCuMgMg /||/ 22 ++  : 

  (A) Mg as Cathode 

  (B) Cu as Cathode 

  (C) Cu is oxidizing agent 

  (D) None of the above 

 (v) ,fDVosVM dkWEIysDl ds MhdEiksft'ku ds nkSjku % 1 

  (A) ÅtkZ lnSo eqDr gksrh gS 

  (B) ÅtkZ lnSo vo'kksf"kr gksrh gS 

  (C) ÅtkZ ifjofrZr ugha gksrh gS 

  (D) mijksDr esa ls dksbZ ugha 

  During decomposition of an activated complex : 

  (A) Energy is always released 

  (B) Energy is always absorbed 
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  (C) Energy does not change 

  (D) None of the above 

 (vi) fuEu esa fdldk xksYM uacj de gS \ 1 

  (A) ftysfVu (B) LVkpZ 

  (C) xe ,sjsfcd (D) lksfM;e vksfy,V 

  Which one of the following has minimum gold number ? 

  (A) Gelatin (B) Starch 

  (C) Gum arabic  (D) Sodium oleate 

 (vii) fuEu fdl [kfut esa Al ughaughaughaugha gksrk \ 1 

  (A) Øk;ksykbV (B) ekbdk 

  (C) QsYMLij (D) ¶yksjLij 

  In which of the following minerals Al is not present ? 

  (A) Cryolite (B) Mica 

  (C) Fledspar (D) Fluorspar 

 (viii) ,sflfVd vEy dk IUPAC uke gS % 1 

  (A) feFksuy (B) 2-isUVkukWu 

  (C) bFksuksbd vEy (D) feFksuksbd vEy  
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  IUPAC name of Acetic acid is : 

  (A) Methanal (B) 2- Pentanone 

  (C) Ethanoic acid (D) Methanoic acid 

 (ix) fdl esVy&dkcksZfuy esa C–O cU/k etcwr gS \ 1 

  (A) +

6)(COMn  (B) 6)(COCr  

  (C) 6)(COV  (D) 5)(COFe  

  Which metal carbonyl has the strongest     C–O bond ? 

  (A) +

6)(COMn  (B) 6)(COCr  

  (C) 6)(COV  (D) 5)(COFe  

 (x) fuEu esa dkSu vf/kd vEyh; gS \  1 

  (A) csfUty ,sYdksgy (B) lkbDyksgsDlsukWy 

  (C) QhukWy (D) m-DyksjksQhukWy 

  Which of the following is most acidic ? 

  (A) Benzyl alcohol (B) Cyclohexanol 

  (C) Phenol (D) m-chlorophenol 

 (xi) ,d izcy {kkj α-gkbMªkstu dks i`Fkd dj ldrk gS %  1 

  (A) dhVksu ls (B) ,sYdsu ls 

  (C) ,sYdhu ls (D) ,sehu ls 
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  A strong base can abstract an α-hydrogen from : 

  (A) Ketone (B) Alkane 

  (C) Alkene (D) Amine 

 (xii) fuEu esa dkSu tkuojksa ds ;Ñr esa bdëk gksrk gS \ 1 

  (A) ,ekbyksl (B) lsywykst 

  (C) ,ekbyksisfDVu (D) Xykbdkstu 

  Which of the following is stored in liver of animals ? 

  (A) Amylose (B) Cellulose 

  (C) Amylopectin (D) Glycogen 

  2. fdlh foy;u dh pkydrk ruqrk ds lkFk D;ksa ?kVrh gS \ 2 

 Why does the conductivity of a solution decrease with dilution ? 

  3. nzofojkxh lkWy D;k gksrs gSa \ ,d,d,d,d mnkgj.k nhft,A 2 

 What are lyophobic colloids ? Give one example. 

  4. fuLrkiu ij laf{kIr fVIi.kh fyf[k,A 2 

 Write short note on calcinations. 

  5. fuEu ds IUPAC uke fyf[k, % 2 

 (i) 363 ])([ ClNHCo  

 (ii) ])([
3423 OCFeK  
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 Write IUPAC names of following : 

 (i) 363 ])([ ClNHCo  

 (ii) ])([
3423 OCFeK  

  6. fMgkbMªksgsyksthus'ku vfHkfØ;k D;k gS \ 2 

 What is dehydrohalogenation reaction ? 

  7. gsykstu esa C-X cU/k dh izÑfr dh O;k[;k dhft,A 2 

 Discuss the nature of C-X bond in halogens. 

  8. ;ksxkRed&ikWfyesjkbts'ku in dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain the term addition-polymerization with an example. 

  9. foVkfeu A rFkk C D;ksa vko';d gSa \ izR;sd dk ,d,d,d,d egÙoiw.kZ lkslZ crkb,A 2 

 Why vitamin A and C are essential to us ? Name one important source 

of each. 

10. ,UVhvkWDlhMsUV D;k gS \ ,d,d,d,d mnkgj.k nhft,A 2 

 What are antioxidants ? Give one example. 

11. fcUnq nks"k D;k gS \ 'kkV~dh nks"k dh O;k[;k dhft,A 3 

 What is point defect ? Discuss Schottky defect. 
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12. ijklj.k nkc D;k gS \ n'kkZb, fd ;g ,d v.kqla[; xq.k/keZ gSA  

3 

 What is osmotic pressure ? Show that it is a colligative property. 

13. ,d izFke dksfV dh vfHkfØ;k dk osx fLFkjkad 131015.1 −−
× s  gSA bl vfHkfØ;k esa 

vfHkdkjd dh 5 xzke ek=k dks ?kVdj 3 xzke gksus esa fdruk le; yxsxk \ 3 

 A 1st order reaction has k = 131015.1 −−
× s . How long will 5 gm of this 

reactant take to reduce to 3 gm ? 

14. izFke] f}rh; rFkk r`rh; ,sYdksgy D;k gSa \ izR;sd dk ,d mnkgj.k nhft,A 3 

 What are primary, secondary and tertiary alcohols ? 

15. ukbVªks xzqi ds m-MkbjsfDVax rFkk fM,fDVosfVax izÑfr dks foosfpr dhft,A 3 

 Discuss the deactivating and m-directing nature of nitro group. 

16. (a) 3HNO  dh lajpuk cukb, rFkk blds nksnksnksnks mi;ksx fyf[k,A 3 

  Draw the structure of 3HNO  and write its two uses. 

 (b) HF, HI  dh vis{kk de vEyh; D;ksa gS \ O;k[;k dhft,A 2 

  HF is a weaker acid than HI. Explain. 

vFkokvFkokvFkokvFkok    
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OR 

 (a) 4XeF  dh lajpuk dh O;k[;k dhft,A 3 

  Discuss the shape and structure of 4XeF . 

 (b) buVZ is;j bQsDV D;k gS \   2 

  What is inert pair effect ?  

17. (a) fuEu dk bysDVªkWfud foU;kl fyf[k, % 3 

  (i) )27(2+Co  (ii) )58(4+Ce  (iii) )71(2+Lu     

  Write the electronic configuration of : 

  (i) )27(2+Co  (ii) )58(4+Ce  (iii) )71(2+Lu  

 (b) Li"V dhft, fd +Cu  vk;u tyh; foy;u esa LFkkbZ ugha gS] D;ksa \  

 2 

  Explain why +Cu  ion is not stable in aqueous solution. 

vFkokvFkokvFkokvFkok    

OR 

 (a) −2
72OCr  dh lajpuk fyf[k,A 722 OCrK  ds nksnksnksnks  mi;ksx nhft,A   3 

  Write the structure of −2
72OCr . Give two uses of 722 OCrK . 
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 (b) vUrjkdk'kh ;kSfxd ij fVIi.kh fyf[k,A 2 

  Write note on interstitial compounds. 

18. (a) vki dSls cnysaxs % 3 

  (i) 333 CHCHCOOHCH −→  

  (ii) OHCHCHCOOHCH −−→ 233  

  (iii) COOHBrHCCOOHHC −−→ 5656  

  How will you convert ? 

  (i) 333 CHCHCOOHCH −→  

  (ii) OHCHCHCOOHCH −−→ 233  

  (iii) COOHBrHCCOOHHC −−→ 5656  

 (b) fMdkcksZDlhys'ku D;k gS \ mnkgj.k lfgr le>kb,A 2 

  What is decarboxylation ? Explain with an example. 

vFkokvFkokvFkokvFkok    

OR 

 (a) fuEu vfHkfØ;kvksa dks iw.kZ dhft, % 3 

  (i) 
KHgSO

SOHdil
OHCHCH

333,4

42.

2  →+≡  ? 
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  (ii) →+ HCNCHOCH3  ? 

  (iii) →+ NaOHHCHO  ? 

  Complete the following reactions : 

  (i) 
KHgSO

SOHdil
OHCHCH

333,4

42.

2  →+≡  ? 

  (ii) →+ HCNCHOCH3  ? 

  (iii) →+ NaOHHCHO  ? 

 (b) fuEu ls R-COOH vki dSls rS;kj djsaxs \ 2 

  (i) ,Ydksgy 

  (ii) ukbVªkby 

  How will you prepare R-COOH from ? 

  (i) Alcohol 

  (ii) Nitrile 

SSSS  
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